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MATHEMATICS Grade
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Il o b a I M a t h e m a t i c s %l
E I i t e C o m p e t i t i o n — 1% — & 7
Instructions:
ELAA:
ELA:

> For question numbers 1 to 10, each question had four choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
F1E10EY , SEENEEE : (A),(B), (C)and (D) , BERE—#&
ERER , ZETRD.
E1E108F , EEEMNIEM : (A), (B), (C)and (D) , BERE—1
EWER , ZRTED,

> Question number 11 to 20 are of short answer type.
F11E20ER/EETE,
F11E20B N EER,

> Each question carries 10 marks.
BEEG10D.
BEE 5105,


mac


If x and y are two co-primes, then their LCM is _.
BxNyREER , efN&DMLEBE_

BAxMy—ERMN , eMNNHNMEHR__

The ratio of two positive integers is 4:5 and their HCF is 6. Their LCM is __

MEERR LS 45, MEMNEALREUR 6. EMNRPMNBEE_

o

MANERBH LR 45, MEMNNERALEAHRE 6. EMNNSKNMBHE__.

(A) 110
(B) 100
(C) 120

(D) 130



The curved surface area of a right circular cylinder of height 14 cm is
88cm?. The diameter of the base of the cylinderis ___ cm.

— B 14ERKNEYEENMEEERSSFHENR. EMEEREHNER
=_ EX.
—ME4ERNELEENHEERESSFHER, INMNEEFESTNERE_

__EXK,

When a positive number is increased by 10, the resulting number equals to 200 times

the reciprocal of the original number. What is the original number?

FE—fEESN_E10, ABESRIFHL R K EI 220018, B ERRNEZHE?

E—TIEEIN_E10, 3880 F TR K FI 2920015, 15 D) RN =Z 472



Find the median of the first 10 prime numbers in ascending order.
H/NEREE, FRES10EEHNFLE,
H/NEREE, HREE10N TR P,

As shown in the figure, PQ || RS. Find the value of x.
TEFR , PQ|| RS, 88 Hxo

TEMR, PQ|| RS, H#kHx,



R S
(A) 80
(B) 90
(C) 100
(D) 110
7)

Find the number of positive factors of 180.
AR H180MERFEAB.
BEHKH 180 ERFAB .

(A) 15

(B) 16



8)

Of the class intervals 40-50 and 50-60, which of the following class
intervals is the number 50 included in?

£ mfE#EEE 40-50 M 50-60, FE SO B IEFE LA T P — {E#E 2 2
FEMANAEE 40-50 M 50-60, F RS0 BIFE A THE—NAEE ?

In the figure below, 2ABC is an isosceles triangle with AB = AC = 17cm

and the altitude from A to BC is 15cm. The length of BCis ___cm.

TE#R, AABCR—FE=AK , HFAB = AC =17#XK , MHAZIBCHE
ER15EK, MEBCHRER__ X,

TERER, AABCR—ZE=AF , HFAB=AC =17EX , MHBAZIBCHES

=15EXK, BABCHKER__ EXK,



10)

In aJKL, 2J=40°, .K=60"and JK=5 cm. In ~aMNO, M=40°", .N=60°, and

MN=5 cm. Which reasoning can be used to prove 2 JKL=2 MNO?

£ aJKL, 2J=40°, .K=60", & JK=5[E K. £ aMNO, M=40", .N=60", &

MN=5EXK, BRI TH—IE R A LAEE 2 JKL=2 MNO?

£ ~JKL, 2J=40°, .K=60°, & JK=5[EK. I ~MNO, «M=40°, .N=60°, &2 MN=5

EX, BRILATE—Ia] A LAER aUKL=2MNO?



(A) ASA
(B) SAS
(C) SSS

(D) AAS

11)

A man is four times as old as his brother. 2 years later, the man will be three times as old

as his brother. What is the present age of the man?

—RBANFREFFHHME - MFR, ZBANFRFZHFEN=F -
mEZBARENFRESZSD?

—BBANFIREFFHOE - MFRE ZBANFRFEHHH=(F -

BB AMENFRESZSD?



12)

The stem-and-leaf plot shows the ten pin bowling scores of John. What

percentage of John’s score is 100 or higher?

LTHWBREERRTMATEBRN DB, FREAMA10025A ENXBHNE

THERZD?

LTHTHERRT M ITRIKE 5. FHRM1005 A LR BNE 2

RED?

STEM LEAF
B -

7 5,6

8 31,7

9 2,1,6,5,9
10 4,5,2
11 3,5

12 6

13 3



13)

A metal sheet is 27 cm long, 8 cm broad and 1 cm thick. It is melted and
recast into a cube. Find the difference in the surface areas between the ori

ginal metal sheet and the new cube.

—REBRORER27TEKR , RERSEKR , EERI1ENK, EHBANLLER

K—IEFR#E, FRERRNESBRMESKN ESBHREBRNE,

—REBHRVKER2TEX , RERSEX , BEER1EX, EHBAILHAEHK

—ES%, BRERRNEBRMES XN ESEHNRERE,

A boat travels 20 km downstream in 2 hours and the same distance

upstream in 5 hours. Find the speed of the boat in still water and the speed

of the water current respectively.

puil, g
N

— e m TR0 EFE2/0E | @ LiFARERERFEES D, Bl ¥ H

ARAZ AR 1E 7R K MR E MR IEE

— i@ TiF20 0 EFE2/0 e, [ EFEREEEMNFE RSN, 155 5Kk H AR

REAREERKAVEEMARAVRE



Consider a triangle 2AABC. Extend its 3 sides BC, CA and AB to form 3

exterior angles «/ACD, «BAE and .CBF. Calculate «/ACD + /BAE + CBF.

EZEB—=AF,ABC, ERH=38BC, CAMABAFEK =54 ACD, -BAE

% CBF, 5itE -ACD + .BAE + CBF,

EZERE—=AF,ABC, EKH=14BC, CANIABAIFK=R54A LACD, -BAE &

<«CBF, #&it& .ACD + BAE + .CBF,

The average age of a group of eight members of a club is the same as it
was 3 years ago as an old member has been substituted by a young

member. The incoming member is younger than the outgoing member by _

—E8 AME3FRIK FHEFHNSFHFEFE HE. ERERA—BFENE
EERT -BFR NEE. BERFENEESLFRNESEFE_ &


Ada


—NSAHASFRINFHFRNSFENFHFREER, IRRN-—BFENAR

BT —RERNEAR. BABFRNEARLFRNEARFRE_ o

16) Consider a parallelogram. If two of the interior angles are smaller than

twice the other two interior angles by 60-. Find all 4 interior angles.

ZR—EFTREEY  HPMERALRNIAAR2ED60-,

SRR A RS,

EZR-—ANVTOLE  HFFHRAA

&N ARAR2ME D60, FHRHEBFITRLENRERNE,

What is the length of AB?

A EABHNRERATE ?



BHABI KER( L ?

i X

X' O /A (5,0)

19)

Find the value of |(-3~?|

-3
HRE| 92| W,

i%?&tﬂ[(—a)“z)] BIfE.

Consider a trapezium whose parallel sides are 24cm and 15cm respectivel

y and the distance between them is 10cm. Find the area of the trapezium.



ZR—EHEY K HRPITHMER24ERKM5EXR , MAMEHESHZ10E
Ko mERHEBBFNESE,

ZR—DEE , EFATHFLR24EXRKM15EXK , AHLEHERR10EXK,

FHREXMEEHER,

END OF PAPER



